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Reasoning Ability / & araray
G is the brother of H. H is the sister of M. M is th
N, how is M related to ] ? < nother of N, g Jis the
TR * Mate Fi
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While firing crackers, a child in your neighbourhoad poty 7% "
What would you immediately do ? 7T Severe brng on &
1)  Dip the child’s hand in cold water till there ig 1, more } * hand a4 ate - E
(&) 1ohs
(2) Ignore everything and do your own work, Tirming SeNsation ‘
(3) Wash the hand with Dettol.
(4) Send some one to call the doctor.
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3. Given below is a question followed by two statements numbered (I) and (Im),

information. You have to decide which of the statements is/are sufficient U::;;‘A —rwm:.'
The sum of ages of X, Y and Z is 60 years. Whatis Y's age ?
Statement : (I) Y is 10 years older then X.
(II) Z is 30 years old. |
{/fy Both statements (I) and (II) together are necessary to answer the question.
(2) Both statements (I) and (II) together are not sufficient t0. answ:;ril thiet jt:;::rm -
(3) The statement (IT) alone is sufficient to answer the question, while Statemert

sufficient. .
(4) The statement (I) alone is sufficient to answer the questio

sufficient. 5
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Reason (R) are given. Read both the statemen
6.  Two statements labelled as Assertion (A) ghelp of the codes. 5

carefully and select the correct answer with

Assertion (A) : Inside the Earth, metals are resent in molten state.

Reason (R) : Farﬂ\reﬂedsﬂ\e&m'srayé

(1) (A) is true, but (R) is false.

&f Both (A) and (R) are true and (R) is the correct explanation of (A).
3) Boﬂl(A)and(R)areu-uebut(R)isnot&lecorrectexplanationof(A).
(4) (A) is false, but (R) is true.
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'(1)  Both conclusion (N

Y

numh"f“" (I) and (I). g
nd .

1910N85,
.,t,nh-mt-m‘.

E:htl}:: g(:l‘:‘:ltzlli:;ltzz;\iy:l/nh.'m(‘nl.s are followed by two cone !u
! §) is/are definitely true, based on the given
Statements : B>C=82T2UY<KsL<U
Conclusions :  (I) B>Y ‘
(am s=1U
and conclusion (II) are true.

(2) Neither conclusion (I) nor conclusion (IT) is true.

(3) Only conclusion (1) is true.

(4) Only conclusion (II) is true.
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two conclusions aumbered (1) and (II). Assllming .
to be at variance with commonly known facts deddz

m the statements.

Three statements are given, followed by
statements to be true, even if they seem
which of the conclusions logically follow(s) fro
Statements :  All windows are doors.

All walls are rooms.

Some walls are doors.

(I) Some windows are walls.
(I) Some rooms are windows.

(1) Neither conclusion (I) nor (II) follows.
(2) Only conclusion (I) follows.
(3) Only conclusion (IT) follows.

gj{ Both conclusions (I) and (II) follow.
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ked 40 m towards Gouth to reach at point B. From there he took a
at P“inl C. Again he turned left and walked 6 m to reach at
tween point B and D and in which direction is point D

(1)

Ravi started from point A wal
t turn and walked 8 m to reach
D. What is the shortest distance be
Q B ?

Jef
\Oint
with respect ¢

14 m, North-East A2) 10m, North-East

1)

t:\ 14 m, South-West (4) 10 m, South-West : e
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Eight persons G HF AKD, C and ] are sitting in front of one another in two rows. Each row

has 4 persons. “G is between D and C and facing North. K, who is to the immgdlqte left of H is

facing J. F is between A and H and ] is to the immediate right of C. Who is sitting in front of D ?
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Select the correct mirror image of the given figure when the mirror is placed at “AB’ line as shown

below :
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13.
the first term and the sixth term is rel
ﬁwﬁf@aﬁﬁwﬁwmwaﬁsﬂfmwﬁﬁﬂm
2 oik Bt 1g, uiwa @ gefud 21
34:85::48: _2 ::62:155 R (4) 125
(1) 140 (2) 105 () - formed by joining the 4 pieces gj,

: yHonNs that can e 10 5 )

14. Find a figure from the figures given in the option Lk R B ‘

in the figure X : ¢ o fop feqm 10 FT iy AT GHE %1 SESHT FAT 7 3
) fa m fameal & 39 fashed A AL
T e
G )
Figure (&) X’
Cﬁﬂ Cﬁ @ [ ‘
3
' / — dod a8 ‘CTNUDYVQ’ and ‘DOCTOR’ is coded 3
By e COd}f langﬁ?gglgﬁissgﬁiioljegomethe same language ?
i 4 w. 7 4 / 77 X -
ag X%?f%’ o 4 HOSPITAL’ %1 2 ‘CINUDYVQ, % 3l ‘DOCTOR’ 1 F2 YIXYJW' & 9
w7 % ‘DISEASE’ 1 e 71 8 ?
wost . (1 YNMJUXZ  (2) YNNJVX] (3) YNMJVXZ 4 YNNJVXZ
&
hied PART - Il / 37197 - Il
General Awareness & Current Affairs /ATHT SIRTSHAT Ud ATHTIS ATH
16. Which company owns the Generative Al model Chat GPT ?
1) Open Al (2) Meta (3) Google (4) xAI
v (S Fim gfs wted 92 St &1 w@ifae fefafea § 9 feas o 8?2
17. (IV\;hengithhe }I:1temational Day of Women Judges celebrated ?
o (2) 1 April (3) 10 March 4) 8 March
3‘*'“'%”‘%' AT feaq el FHET S 2 @
1) -9 e
% (91 , (3) 10 \rd 4) 8 i}
18. Who is the first di
1) Junk(; }lf:b;iiﬁferently-abled woman to climb the Mount Everest ?
(3) Arati Saha : f2) Arunima Sinha
AR T T YR Fee 4) Santosh Yadav
(1) o ame et feoat wfeen Fretferfiaa o § @9 2
() ot T (2) 3r&fomT fa=
FoN (4) Hdw gEg
| 6




19. which is the first ]-H\)"\l.l,"«' to be conferred the status of classical language in India ?

(1) Kannada (2) Odia (3)  Sanskrit (4) Tamil
o T VAT MY w5 af g aarent uwelt s Freferfaa o @ e @ 22
1) FAS (2) ife (3)  Hepa (4) atie
20. which forests are known as Monsoon Forests ?
(1) Mangrove (2) Montane
3) Tropical Deciduous (4)  Tropical Evergreen
preferfias W ¥ fRg a9 ) WY 99 H8 A 2
(1) wS et (2) A (weda aefa)
() SR qoiyR & (4) SorRfEHE HaEET
2. Consider the following statements regarding Booker prize 2024 :

.. Booker prize 2024 was awarded to the novel titled ‘Orbital’ which is the shortest novel in
Booker prize history.

b, Samantha Harvey was awarded the Booker prize for 2024.

. Orbital, is the first ever Booker-winning book set in space.

Choose the correct answer from the code given below :

(1) Only b and c are correct. (2) Only-a and c are correct.

(3) Only a is correct. (4) Only b is correct.
T TR, 2024 ¥ s H FrAfafea o W faar wifeT

s’ Y A TERIT ST S g TR % I § A 39 €, S8 IR TR,
2024 ¥ TG fohan )

b. maﬁaﬁaﬁzomé:gwwﬁwrﬁamwa

. s siafe T ST 3T 9% i Teel g TOERR WIE HTA dell ST €|
(1) Fadb R c T T (2) %A a 3R ¢ T T

(3) *ad a T T 4) HIA b TA T

22 Which Indian nationalist and a scholar of Islam is associated with the notion of “Wahadat-i-deen’
emphasizing the essential oneness of all religions ? -

() Aga Khan (2) Maulana Azad

(3) Khan Abdul Ghaffar Khan (4) Syed Ahmad Khan
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24. In the early 1800s the East Indi

25.

26.

FSN

i . Listadiation 1 atte f dispute between two

Which level of Court(s) in India exercises ”ri,r'innl lun‘e(lu tion in matters of dispute betwee

states ?

a. Supreme Court

b.  High Court

C. District Court

Choose the correct answer from the codes |’1‘|‘T,"';’ ; Only 8 {4) Onlyaandb
1) Onlyc 72) Onlybandc € ¥ #1 g Afuamifran 27

(‘c:’l Tl %Eﬁ\?z ferare ;iaiiﬁ)qm‘éffg e 1 foa foA =Araera/ Ll

a. I=HIH _U™HE

b. B IRINE

c. foen =™

Fr fir o el # | Wl WM

¥Fad a 3 b
(1) & ¢ (2) b R c ) (4) a

Fad a

e a claim that it was Supreme and representec

a Company mad Indian Kingdoms. What was the schem

greater authority, hence, was jusﬁfied in annexing any
s ?- i Rights (2) Subsidiary Alliance
(21) g(l)‘:t;-mafue ofg Lapse (@) Policy of Paramountcy
1(&))0%aﬁwmﬁwmwﬁ%wm%%aﬁa%aﬂwgwﬁwmmﬁma:
forqu T &, ST TG BN et Tl 1 31O et rifad o1 39 ThiH 1 A A o2
(1) e sfER (e 1) () Wﬁﬁ(aﬁaﬁaﬁ@) :
(3) e i (ST SAih AH) (4) aterar # fifa (difeh site SmEe)

Which of the following systems of elections is used to elect members of Lok Sabha in India ?

(1) List System

(2) Single Transferable Vote

(3) Proportional representation
(4) First Past the Post

4Rd H @l B % §O8 9esl o fateq 7 fFrefafea § 9 farg fatem gomedt =1 g@m e sma g2
(1) =t yomett (foree faen)

(2) TS BEIGOTT TG

(3) ufas wfafafus

4) WWWW@%WWWMW(WWEW)

Who is the President of the European Commission who visited India in February 2025 ?

(1) Donald Tusk (2) Viktor Orban

3) Ursula.Von der Leyen * _ (4) Jean Claude Juncker

AL 2025 HIR 1 A TS / SR 2R s (AT o) &/F1 aeae #9 F
(1) e == et (2) fawz sew

() e & X form 4) foam e S
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28.

29.

Consider the fﬂlluwiny statements regarding Ranji Trophy 2024-25 which.C(mcluded recently 3
The final game for the Ranji Trophy 2024-25 was played between Vidarbha and Mumbai.

Vidarbha won the 9th edition of Ranji Trophy 2024-25.

b. .
The captain of Vidarbha Ranji Trophy team for 2024-25 was Karun Nair.

C.
Choose the correct answer from the code given below :
(1) Only b and ¢ are correct (2) Only a and b are correct.

3) Only a is correct. (4)  Only b is correct. |
oot B W W GO TSt ot 2024-25 & A i frefefaa s o faeEn wifsra :
a. TS SR} 2024-25 a aife T faasd st ofsrd & after @en

b, faR J ot gied 2024-25 @1 90 A Hearor st |

Y 2024-25 ¥ faygsf qorsft fet @AW w1 s dE AL 91|

C.

19 R T g A Q| 3o G0
(1) 9 b 3R ¢ Wl }) (2) Fae a 3 b W ¥
(3) 9 a WE R (4) FHa b HE 2

Which of the following pairs of ‘First in India” is matched correctly ?

(1)  First Defence Minister - Baldev Singh :
(2) First Chief Justice - Justice Fazl Ali

(3)  First Chief Election Commissioner - T.N. Madan

(4) First Lok Sabha Speaker - M.A. Ayyangar
‘9RA ® WuR' wg &1 frefafaa § @ wF 91 g gafad 82

(1) 5o & WSt - ded fag ‘
(2) W9 qE A - RS Hete STelt
(3) ¥Rd % wu9 gEA fateq g - AT "R

(4) % | F YUYW FAN - THT 3R

Among the following Padma Vibhushan awardees for the year 2025, who has not been awarded
in the field of Art ?

(1) Shri. Lakshminarayana Subramanian

(2) Shri. Duvvur Nageshwar Reddy

(3) Smt. Kumudini Rajnikant Lakhia

(4) Smt. Sharada Sinha (Posthumous)

74 2025 & vy fayywor & et Frefafaa safai § @ i e % & 3 Teha 78 e T 2
1) 4t deHARE gervaH

() o g R

3) et Fufet WHRa AfEan
(4) et eIy fe (FROirRi)

Which of the following is listed as an ‘ Achiever* state in the Niti Aayog inaugural Report of Fiscal
Health Index, released in 2025 ? =i

(1)  Jharkhand (2) Maharashtra  (3)  Uttar Pradesh (4) Telangana
ﬁzoﬁﬁmmmmﬁmwmﬁ%ﬁﬁﬁﬁmﬁémmﬁ
‘Iverfe’ ST T A T Y et foh T 2

(1) wrEE (2) WeRTE (3)- SR wow (4) e
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General English/
. Jiven sentent .4
31. Identify the clause of the underlined part in the given %
. ain if
I often wonder how you are going to succedd it - ause
i - 2) Prine i'vnl a
(1)  Adjective Clause ( Noun (lause
(3) Adverb Clause (4) i
, o oful senten
J ‘ ' A n](‘iln” ’,fll
;"2- Rearrange the parts in correct order 10 make to his friend lo
A. he realised his mistake D and offered an apolt g}'4 ABCD
C.  in due course of ime : (@) ADCB )
N “ADB
(1) DCBA £ CA
‘ or.
.+ contains an €7
ﬁ. In the following sentence, identify the part Wh;lcll;ar gravitation
The rise and fall/ of the tide/ are due 0/ 25 (d)
@ (b) ©) 4 (®
d @ @
®» © @ @ .
; ng the given OP e
B4. Choose the sentence type of the given szitglce;from alie
: the river bank:—
What a lovely sight to se€ on (3) [nterrogative 4) Exclamatory

) Negative

(1) Assertive
ntence from Direct Speech into Indi

@5. Choose the option which correctly changes the given S€
Speech. A
I said to him, “I don’t agree with what you are saying.
(1) A told him that I didn’t agree with what he was saying.
(2) Itold him that he didn’t agree with what I was saying.
(3) 1conveyed to him my disagreement with him.

- (4) Itod him that I don’t agree with what he is saying.

p-: 363 Choose the word nearest in meaning to the given word.

Indolence g
(1) laziness (2) wretchedness ( leniency 4)

sleepiness

i

5 . . . .o o e
)4 Choose the option which correctly identifies.the Part of Speech of the underlined word.

The passengers ran fast but missed the bus. .
(1) Interiection (2 v
4 (2) Adverb {:?3) Preposition (4) Conjunction
1 - In the following sentence, identify the partgz;zgch i

He is / determined for / harming / his own%zl contains an error.

1

M) (9 2 (@ AP
4) (b

10
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40.

41.

hoose th Lacth : .
C e best option in which the given sentence has been changed from Active Voice into

passive Voice.

[ will finish the task in a week’s time.

(1) Inaweek’s time, the task would be finished by me.
(2) The task will be finished by me in a week’s time.
(3) The task will be finished in a week’s time.

(4) I will have finished the task in a week’s time.

Choose the word opposite in meaning to the given word.

Ruthless
(1) weak (2) compromising (3) heartless (4) merciful
PART - Il / AT - Il

General Hindi / ZT#Tea &l
R T T gerR A 3 ®
(1) I g WA T HA (2) A g TR 3 T
@) T & THR W I (4) for S AT § T e &
‘5" gl 1 IR T § —
1 <3 @ 7oA . (3) FHA (4) d@A
(1) TR y ~ () e (4) I3
et H A F g A B IR

3) HAATH (4) Tfeies

() i (4) W
(4) We¥EES
3 o™ (4 w@wd
(3) MR (4) =R
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(4) TEE

frafafaa 9 ‘i’ wis 1 gdte faemeff vse #

ClaRll

(1) 3mErme Gy s (3) |
5
freaferfias & wifen we @ G
) B (2) wed (3) UIE
PART-IV/:HF’T-W
Subject Knowledge/ & |
The cerebral aqueduct passes through : y Medulla 4) Pons :
(1) Midbrain (2) Cerebrum 3) .
e TR oA i a )
1) foeT ¥ (2 hawd (3) A 3
e according to Erikson is all except -

The developmental task of old ag
( E otpirfg with the loss of loved ones

)

((;) Psychosocial conﬂict§ ‘

3) Achievement of ego mt?grlltyﬁonsmp 4
Modifying interpersonal reia :

gﬁ)m%ﬁoaq%wgﬁmﬁ@qmaﬁmmﬁwaﬁw EZ

(1) S I @ g A g

(2) wEEEISE 88

(3) e AR H ST

(4) ot Hadl § R

The metabolite excreted in urine in thiamine deficiency : =
(3) Pyruvate (4) Glucose

(1) Xanthinic acid (2) FIGLU
u?m@qﬁﬁﬁm@ﬁamﬁmméz(m)mﬁmm%?
1) g e () R (3) TETAE (4) THE

The motivation theory which says that we are motivated to seek goals which give us emotional |

feelings and avoids goals resulting in displeasure :
(1) Opponent-process theory (2) Optimal level theory
(4) Incentive theory

(3) Drive theory

a8 S i (4iadt) S et & o 59 3 oredi ) | ST S e F
R e TRl T AT =T8d € Sl gH o ¥
(1) @rdr=-grEE fagrd 2)  sifiewe wr fagiq '

Y R 7 et

The conflict between two positive i
Is is called :
(1) Approach-Approach Conﬂicgoa %%
: ts 2 : — =
g) Avmdanc.e-Avoidance conflicts (( 4)) rultrlple aPPro.ach-Avo;dance conflicts
HHAAF Al & ot 51 g ( FfHAT) WP p% oach-Avoidance conflicts

N7



* Which of tt
1) Alanilnees;r.um enzyme is elevated in Rickets ?
(3) Amylase ransaminase (ALT) (2) Aspartate Transaminase (AST)
% ) Alkaline Phosphatase (ALP)

de o
s ﬁqm'“’“‘ T (favadh) @G S @ 2
ST (T ue &) (2) st st (u vl 1)

(3) Sy ps '
(4) UehAE WERH (1 A q1)
57. In which part of :
/ ) 115 part of the respiratory system gaseous exchange takes place ?
a‘r.\ nx (2) Secondary bronchi (3) Alveoli (4) PharynX
sa'ﬁlqﬁ?%mwﬁﬁvmw wa A 8 2
(1) Naw (2) dFsd AR 3) uafere (4) W
58. The key enzyme that converts trypsinogen to trypsin is :
(1) Elastase (2) Enteropeptidase (3) Secretin (4) Chymotrypsin
€ T fFvas S AgdiFer S ZodH § 98ed ©
(1) To=H 2) TZnRfesH (3) ThIEA (8) IPREIsR

§9. What is the first step in providing first aid to casualty with chemical burn in eye ?

(1)  Shift the casualty to hospital

(2) Apply a eye ointment immediately

(3) Rinse the affected eye under running water
(4) Cover the eye with sterile pad

ﬁﬁmwémaﬁmmwéﬁwﬁmwﬂww@ﬁ?
(1) ifed i sTeFdr o ST

) A 3 I HeH AMAT

3) <o g ® enferd T 1

(4) 35 F SR w9 § EH

serves as a lubricant and shock absorbent in joints :

The mucopolysaccharide
(2) Keratan sulfate

(1) Dermatan sulfate

(3) Hyaluronic acid (4) Heparin

EH I ' shsh@fﬁmaﬁwm@fwémmmmw%:
(1) THie wehe ()  HeT Hehe

(3) EERE U (4) &

61« What you should not do if you suspect sulfuric hydrochloric acid poisoning ?
(1)  Shift the casualty to the hospital (2) - Give oil, white of egg

(3) Induce vomiting (4) - -Give them milk or water
Afe SR TR SRS TS diEsH &1 i ST ¥ A ST T TE HLA G ?
(1) ifea 1 st S (), ¥ = <
(3) & HEMA ey 4)- SEE AR S
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1 Wlth hyp()kalemia :

: s . N 4 . nosed
62.  Which nursing intervention would be appropriate for a patient tlliﬂﬂ
1 : 3 3 ! . g1
(1) Caution the patient about eating food in potassium conter
. 2 ) i ; . 18¢
(2) Discuss calcium losing aspects of nicotine and alc olu:l t
R » 3 ' : - "
(3) Encourage food and fluids with high sodium umttl 1
't . . rec
(4)  Administer oral potassium supplements as orde a7

Tt fafiv & A & forg @7 @ Afdn IwER/
oft arerr &

(1) Wh N derfvrge AR A F

@) ﬁﬁm@m%mamtmﬁgm
3) wmmmﬁmﬁﬁﬂm
(@) WWWWW

le doing patient assess
re is 102° F

ment; which of the condition ny,,

The nurse collects subjective data whi

63.
. documents ? :
(1) -Patient is feeling nauseous (2 Teff‘Pera:’“nﬁts fter eating food
(3) Patient ankles are swollen (‘f) ;;3_;9;;;; s = 5 A L .
wﬁwﬁwqﬁmmmmmm, fetfe
| @) 102°F ®1
(1) = e @ R ﬂrﬁ@ﬁ%;maaﬁmamtl

3) it &1 T g e e 4)

In an adult male the GFR (Glomerular Filtration Rate) averag?s : '

(1) 180 ml/min  (2) 200 ml/min  (3) 105 ml/min  (4) 125 ml/min

o s g # e O R (e free 1) B €

k- (1) 180 e/ (2) 200 CHCE/fA. . (4) 125 wEE/f
A vertical plane that divides the body or an organ into right and left sides :

r'65.
—/ (1) Frontal plane 42) * Coronal plane:
(3) Sagittal plane (4) Transverse plane
TF 327 FHGE/ T S I A1 T 37 ) I ¢ 9 3R fawifaa e €
(1) Wi=a 2) T @
P (3) Hfored @ 4) zoad w
66. :;’)hmh C;llome decreases the level of calcium ?
) Par:lﬂzomf (2)  Glucocorticoids
yrold hormone (4) Mineral icoi
ﬁmmmmmm%? ocorticoids

(1) Fodefn
(3) Hetede ami Q) TFETEHTe
. (4) e

1B tosine (2) Uracil
- y 3 Adenine ) Guanine
HI@#H 2 ﬂiﬂﬁﬁ q:g‘}:ﬁ-:, 4 3“‘"‘3
(2) (3)
FSN 14
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@ The long cylindrical portion of the boné ;"i.sr"called :

! Fs"
- N7

The precursor for
The | \ or for the synthesis of steroid hormone
(1) Pregnenolone (2  Cholesterol (1)

NI Hetwoy g qefrdt e @
(1) CUEIRISIE (2) weEEe (3) e (4)

The vitreous chamber of the eyeball lieg between
Behind the iris (2)  Lens and cornea
- ! &P

I'hyroglobulin  (4) ['vrosine

2frfer

(1)

(3) (\:rl\u‘.l and iris (4) Lons and retina,

v (SEaTe) w1 Aedy Waw fwdy wftw o feora g # 7

M) aeRa & W8 (2) o ud wiffan
(4) g ud e

3) FifHw @ IRy

The depth ot chest compression for adult during CPR :
(1) 23 g (2) 15-2cm (3) 6-7cm (4) 56 cm
@Wﬁﬁﬁwiaﬁmmﬁmﬂ o & e aft §
@ 233 (2) 152 Q.. 3) 67 AL 4) 568
What you should do if someone is having a epileptic fit ?
1) Give anything to drink
) en the mouth of the casualty forcefully to put something in the mouth
3) Lay down the casualty gently and clear the area around
@) Try to wake the casualty
qﬁﬁgﬁaﬁaﬁﬁvﬁmmq@@%ﬁmwﬁﬁ?
(1) FO L 3 :
) e 1 e Y @i it qe § 3O < 9
o) sifd 1 ST § TR 3iR ST F1 T @relt w4
@) = 1 ST T HIRT BT
The immunoglobulin present in most abundant quantity :
et SAfehad Al ¥ forermm g€
(2) IgE (3) IgA (4) IgG

1) 1M
on of patient finds postural hypotension, tachycardia, nausea and

A nurse on physical examinati
vomiting, postural dizziness. Which electrolyte imbalance can be diagnosed ?
(2) Hypocalcemia :

(1) Hypokalemia
(4) Hypernatremia
fargar (Fremrean), faael & I

3) Hypona/t\remia
ﬁ%wﬂﬁmvﬁm%ﬂmaﬁmﬁ%@@émmﬁ’&m -

e fesif 1 FF A1 goRIEE SR F R F41 2
(1) eEdHferfaran ; _(2) eEdrRerEiEE
(3) EEESEE @)

() Periosteum  .(2) Metaphysis - (3) Epiphysis (4) Diaphysis
3"??@ JTFR AT FEAME
Welwdtay (o) defefem. 0 (3) CAfERE (4) e
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n

pH is matked |
sl alkalosis

]5 The decreased PaCO, and in reased
(1) Metabolic acidosis (2) Metalx
(3) Respiratory alkalosis (4) Respiratory % O™
mwl‘a(\“’“m‘m "“m Mam’/,{ 'l f'!’ﬂflnl
A1 ¥ 1 14
(1) Feraretts vt (2) z}n? rmimm ’
(3) vardta yrwrenfid (4)
Ak ch
{ ] > 1 l’ e """""
6. A proteolytic enzyme secreted by chief ‘(‘Zl)l” g i}:iuu
(1 ) Gastrin X Pe »gin« ,ﬂ(’ﬂ
3) H_\'dr\rhlon'c acid a'ﬁ(;_‘; ; ; FATEA ¢
s 7t (o d) T g ) T
) e 4 | AT
3) aégracf 2 *)
Chest percussion is contramdlcated n Chgents Pr:g:u:nonia
1) Oxygen therapy (( 4)) CcOPD
(3) Bleeding disorder * )
ez e (ST ST g 2t A TE P fed ?
o STt 2) fepmt Tl
(1) & 3 & <t
3) @@ aET A far & 4)
for postural drainage to drain the apical sectiont of the upper

Which position 1S given to the patient
Jobes of the lungs ?

(1) Left side with a pillow under the chest

2) Trendelenburg position

(3) Recovery position

.(4) High fowlers position :

wE & Fdt 9 () qﬁ%ﬁ%ﬁmm%gﬁvﬁﬁﬁwgﬁaﬁwwﬁmﬁ

%

wed $41 2

(‘:)1“51' Vl ;’f the ro(Howmg is water soluble vitamin ?
A SR T i A (3 Vitamin A Haias
1 3 e A 2 (4) Vitamin D
O Fnk @ OO




y

~ The wet form o "
| f beri beri characterized by involvement of

Y Hear
1) aﬁunt (2) Nerves (3) Kidney
28 W IH WY fiesy & s & o erfara den § 7

(4) Brain

4y wfeE®

1y (2) dfand () T

rhe plasma protein called antibodies are :
Fibrin o {
(2)  Thrombin

(1)
(4)  Gamma globulin

@) Albumins

e N AT deft @
) fes (2) g
) A (4) T Teigfer

The suture that unites the two parietal bones to the occipital bone is the
(2) Frontal suturé

(4) Lambdoid suture

&

Squamous suture

)

3) Coronal suture

agaigsha‘fﬁﬁzaahﬁaﬁvﬁmaﬁ?ﬁsﬁgm%agm

@) T I @) wiTed TR
(@) FRAa g (4) s TN
i : 2
b Which knot is used to tie a bandage around-a wound to stop pleeding quickly
"~ (1) Clove hitch knot (2)  Simple knot

(3) Reef knot/square knot
W@@ﬁ@ﬁﬁﬁmwmmmmﬁu@

(1) T fea e
3) fi e/ Al I

85. Moderately mentally retarded IQ is in
wree fech ferde g o e 7 fd A7

@) 25-39 % (3) (4) 40-54

(1) 70-84
is always present in Kwashiorkor ?

(2)  Diarrhoea

(4)  Very low weight for height

8 Which of the features/sign
(1) Oedema
() Muscle wasting
Tiaiy & gy B G fa/ @ faemr g g 2
1) e (3ir) (2)— eafaEn ()

FSN
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Which of the following is not correct in reg

} "
ard to pnluuulum 1

P ytagsium

“1) Lower blood pressure
«(2)  The human adult body contains 25 M of
3) [Itis vasoactive o
(4) Itis I‘(‘lt‘nS(‘d l"_\' (‘ndn(h(‘li&ll ( l‘!lh‘
Qfery & A B e & e
1) P
(2) IS W yrde ® 25 U isfore A1
@) T€ arfearafma B 2 .
@ T greferet ¥ 8 grgl S
2 o0g 5 Jume is : $° d
s S of residus ] volume and oxplratory reserve vo 3 3
8'8 ?)u J\’.l::il‘(ld}hlk':::’ o (2) Total Jung CapaCIt.:y 4,"
((3> Functional residual capacity 4) Inspiratory capacity
Yegae @ frad aregq qE:
1) arEed Fifaet 2 2’!2. o Al afadl
3) R g Ffaet (4) Fgarerd Fafadl
§9. What is the first aid measure for a noseé pleed ? :
(1) Sit the injured person down with the head forward and plnCh the soft part of the nose
2) Ask the client to wash the nose with Jot of running water
(3) Tilt the head back and pinch the nose
(4) Blow the nose to clear the blood
a7 @ A e H grefae STER ?
1) e ﬁﬁﬁ?@sﬁ?ﬁ?wﬁaﬁ@waﬂwﬂmﬁﬁ
@2 Mﬁaﬂﬁqﬁﬁaﬁ&ﬁ%aﬁﬁ
@ f@#H @ o 9 Td AH c i

4 @ﬁm%mwg@

during a disaster, triaged in :

90, (f; casualty down with multiple fractures
) Green color (2) Black color (3) Red color
: 4) Yell
?ﬁmﬁﬁ@aﬁ%ﬁag@@w%mﬁ%wﬁ@ﬁ? Ll v
) & 2) @ (3) Tl 4) e

The perceptual
process that selec
awareness, at any given time Sl;_ti certa

in inputs for i sl {
i 1P or inclusion in our Cown o

((1). Learning 2 X
3 { . Ih]l: Ikll .,l
(;) s @D () ﬂgmw;@mm%%% :
5 (3) eI T () ¥ A (4ffEHT) T '

A biologically im @ le”{f;ém)

1) Glutathioneportant peptide for the maintena.;nei:e f

e e L B iiap i

(1) ToerehsiT g Sifos ¥ 4 mﬁqa)%;c = (4) Vasopressin

(2 TFHRFY T JerE (M) ¥
@) ST (g

SN
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who has founde
d the concept of psy« hoanalysis ?

q}‘
(1) Max Wertheimer (2) Kurt Koffk

¥ 2 o a
3) ny,‘m‘und Freud (1) John dewey
AT (A Ad

Aoy &1 fasan e deenfua e 2

) ﬁ?m' avim (2) W WIEE
3 €
3) fags e (4) ifa fea

imlich rer .
H“mﬂ“ '“‘"_“‘“‘ er procedure 18 done in the case of
(1) Drowning (2)  Shock
3 Chocking i ‘
) hocking (4)  Abdominal bleeding,

snfere HFaC Wi fag araeen ¥ &t ot ®°?

1y T (2) s
(3) TN (4) selm g ww
iy The region of the kidney that contains renal pyramids is @
1) Renal pelvis (2) Renal sinus (3) Renal cortex (4) Renal medulla
o %1 e & o e deefts (e Tl A e
) T et @ O wET (3) d@ HreeF @) T HEH
g6, The part of the brain that regulates posture and balance :
(1) Pons (2) Cerebrum £3) Cerebellum (4) Medulla
qf@ﬁmaamsﬁﬁﬁma?ﬂqwﬁﬁqmm%;
(1) @ ¥Wem =5 Q) Ffrere™ (4) WE
;}, The rapidly adapting touch receptor is
~ (1) Pacinian corpuscles (2) Meissner corpuscles
(3) Merkel discs (4) Ruffini corpuscles
S S T ST e €
(1) i e (2) e I
(3) wEa fe=m @ FHEAT HEECH
% Which of the vitamin is regarded as klgha‘gy hormone ?
. (1) Vitamin D (2) Thiamine - (3 Vitamin K (4) Vitamin C
o Frerfir 1 T 1 T FA TRME? '

é)/1) faarfim <t 2 feErE -~ @) faafd & () foefm @

annot be synﬂlesizeé;f; human body are called :

Fatty acids those c 1 by
(1) Non-essential fatty acids () Trans fatty acids
(3) Monosaturated fatty acids &) Essential fatty acids

S\ i (Y OfE) A YR BT R T @ T €
(1) -riefrre % e () 7\ o
O AmiRfes ¥ TEe (4) wHEa % ufae

FSN
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m. Digoxin (1 :
magny Hl;l‘l(;g:sxg:)e (1)11135,591:% "9 Ql‘d(‘r;d. It is available in a unit dose vial 500 m g/10 ml. Hoy,
(1) 1.5 ml 2 dmuinister ¢ L% g
:cﬁ'lﬁf:\iﬁ W ( ) 3.5 ml (3) 2.5 ml & ; £
fohert T T g 2
(1) 15TWTH (2) 3.5 U @y 25 R (4) 2UTATA
101. The vermiform appendix is attached to the : @) Jejunum
(1) Caecum (2) Colon 3 puodenum ) J
WW(WW)@W%: e
1) wEH (3vgH) (2) FE @] g™ b
02. The daily recommended intake of vitamin A for adults : e
(1) 1000 micrograms ( 1200 @lcrogrfns :
(3) 600 micrograms (4) 800 microgra
T § wfafea faifi T 1 srguntad gi® ?:
(1) 1000 HTEPETH (2) 1200 AT
(3) 600 4) 800 AT
i i io of :
11)3. A single rescue perform poth artificial respiration and ‘Cg?Pre;;};n at the. ratio 0
@mamamyﬁmm@‘@a"aﬁmﬂ'ﬂ“ﬁ Ll 5"“4”) e
(1 20:2 (2) 30:2 @)~ 30:1 ( :
104, Semen has a pH of :
aﬁm(aﬁ)mtﬁﬁm%: S
(1) 46-62 2) 58-68 w277 (421 2
105. Which of the following indicates ventricular repolarization ?
(1) QRS complex (2) Qwave
(3) P wave (4) Twave
ﬁﬁﬁ@wa-—;@wmﬁm (et g:4a) Zartar &2
(1 HIMTE g 2 #T@
(3 wrad ()
106. The World Health Organization (WHO) defined how many moments for hand hygiene ?
vy T WA (T T o) 3 g9 O & fRdd HH (HA=2) fuifia fFT 82
) 5 @ 6 @ 3 @ 4
results from our perception of the changes taking

motions

107. Which theory conceptualize that the e
lace in the body during emotional experience ?
(2 COgnitive-appraisal theory

5) Schachter-Singer theory
(3) James-Lange theory (4) Cannon-Bard theory
mmmpagmﬁvqammmmmmaﬁﬁﬁmmmqﬁaﬁammw
gt ST S/ 3 el € 2 i
(1) ¥ex-fAm e (2) Ffea-sEd 4
(3) - el @) Fa-arg el
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Y

~ PhalllC StagQ of

8.
@ 1) Ad()lesCQnE:.Vc Osex
(3) Blrth t() ] (‘ri()d L‘(‘V(\l()pm‘
ﬁ:l"'q:g b - %L:r E(I;t) as qF”er Sigmund Freud
1) Toreiremey Ty 4 - Years o 5 ye2*
( STafy P Y i I year to 3 years
(3) mﬁla’ﬁ 3W3nm%:
(2) 3 & 3 5 o
~ Damage of whic ’ 15
1(1/ language ? 1 region of brai; ok ¢ speech 2 written!
aln Ay
(1) Pre fl'Ontal l“l\\ "‘ﬂlk.‘(”y i"‘lmirq the und('r.‘w‘l’lndlﬂg o
(3) Left pari St -
e ¥ i % ;l;nlw (i) Right pari('ti\l lobe
ﬁ [ bl it W N ) Wernicke's ared rk 5
3) AR TS g Q) Tz yhea A
a) 4 L
). The mechanism of ATP ge . 4) =ftpm ol . of hydroge? jons 18
Rl ; y g n?f‘? on that links chemjcal reaction with Pumpmg
_)(1) Oxidation ) I polism
@it Reducti : ) DI
SErEical ERNEIE on (3) ChenuosmOﬂS 3.
(1) SRS azﬁmmﬁ@mmﬁﬁﬁ"ﬂm%’ﬂ
2 fewm 3) @) g
111. The chamber of the heart with _
(1) Right ventricle with the thickest myocardium :
R- h . (2) Left VenmC1e
e atrium (4) - Left atrium
72d 1 HISS STl oA ArAhTEaH feord 2 @ :
it () P A
@ TRE™ () AR
112. The stage of sleep important for cognitive restoration :
(1) NREM3 (2) NREM 2 (3) REM (4) NREM4
mg;wﬁgfﬁﬁmmaﬁ%:
1) TWIREW3 (2) warRiwW2 - () RS T (4) TIRITH4L
which of the following ?

1.

14,

Foods of animal origin are the only source of
(4) Vitamin B6

(1) Folic acid (2) Pantothenic acid@)

e §f | @ 9g A mmmﬁa’m%?;;

(1) wifes Ee @) ofge @) @2 (@) faarfi 6
;. 45 s conjunctival xerosis ?

Which itamin defide¥ @) ViamnB (8 VilminC

) vitamin A
5 versTelT) B ¥ 2

(1) Vitamin K A (
frg ferzrfi 1 A1 gt e
4 @ s (3) faefm = (4) foerfm =

(1) fof &

Vitamin B12

21
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]15.

116.

117.

118.

120.

to the total €NCTEy intake in the following proportion

contribute
25-30 Percent  (3)  10-30 percent  (4) 65.8( Percent

The protein

10-15 I\qlunl (2) e
(1) Wﬂmﬁqf}i?ﬁ?ﬁm AEEETE Y
e g (2) 25-30 ey (3) 1030 ufeera (4)  65-80 fiora
(1)
arse should lubricate the length Of catheter while doing female cathete 'rization -
A (2) " 9emto10 em

10 em to 125 cm

(1)
5 cm (4) Semtohem

12.5 cm to 17

Q\:ﬂﬂ FOAUEITH @ iy ) He &l «]l.mg ) faepen o anfeu
) 103 125 Q.4 (2) o a9 10 94,

(3) 125 A /175 Qi (4) 25 a4, 45 a1,
Lactose intolerance is caused by the deficie ney of the enzyme :

(1) Beta galac tosidase (2)  Maltase

3) Glucoamylase (4)  Sucrase

To fvas ) F TR0 AR STHEAMTN 307 drefy & -

(1) T TR (2) TRy

(3) TRISTHESH 4) ¥y

Which of the following food is high in glycemic indax (70 or more) ?

(1) Potatoes (2) Pastafoods ~ (3) “'Cérn flakes (4) Basmati rice

= e e T 29 (70 o i) wepdm 22

1) 3 (2) UrmE™ (B) i ®w (4) EHd TES
. Which of the following is a type of co ve ?

(1) Latent learning 2 45 %onggnte"leammg

(3) Operant conditioning , - ¢4) Classical conditioning s

ﬁqﬁﬁm@mﬁmwm%7 ‘

(1) = foen (S aff) (2) s faan (sEtaEy affm)

(3) HiFa sIgpem (e sHfewfin) (1) TS STger (Fenfasa Heram)

How do you treat a casualty with foreign body in the nose ?

(1) Maintain airway by asking the casualty to breath from the mouth
(2) Lay down and rest

(3) Make an attempt to remove the foreign body

(4) Blow the nose i

wﬁma@maﬁﬁmmmﬁaﬁf?
(1) Wﬁmr@%%mmﬁaﬁ@ﬁméﬁaﬁﬁ%

(2) foend sl smm =3 # FE i
(3) =l axg F fHewer #1 vaE =
(4) = geH/Ein m
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